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ViR, THFwebH B/RKIA AT :

SHA256 ( 'TQLCTF' + ?) starts with 58011

Please input the string:
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from hashlib import sha256
import string

import itertools

import socket

import re

HOST

PORT=41985

sock socket.socket(socket.AF_INET, socket.SOCK_ STREAM)
sock.connect((HOST, PORT))

def brute force(pad, shav):
for i in (20):
for in itertools.product(string.ascii_letters
t .join( )
ts pad t
h sha256(ts.encode( )) .hexdigest()
if h.startswith(shav):
print(ts, t, h)

return t

content sock.recv(1024).strip().decode()
print(content)

startl (

pad

h content[startl:startl+5]

brute_force(pad, h).encode()

.encode())
sock.recv(1024).strip().decode()

serverif iR E T LTS B:

string.digits, repeat=i):




If you want to know Zard's secret, you need to play a game with him.
Zard has an array of n distinct integers. You can ask no more than n questions.
Each question contains m distinct positions. Zard will take the corresponding m numbers from his array and sort
them. However, he will only tell you the k-th number among them, in ascending order.
our task is to guess the size of k.
(1<=k<=m<n<=10000)

You can perform two operations:

1. Query. Your query starts with a capital 'Q', followed by m positions. You will get the k-th element of the in

tegers corresponding to these positions in the array in ascending order. (e.g., Q 2 3 4 5. The answer is 8.)

2. Guess. Your guess starts with a capital 'G', followed by a number, which is k. If your guess is correct, you'

11 know Zard's secret. (e.g., G 3.)

You are so smart! You will get Zard's secret!

Let's start!
n = 1578, m = 245

FRH KB

(1<=k<=m<n<=10000)

1. n: H—NHHarray, HPFEnNEAMHERES, ERILTFH.

2. BATATRHnR . FXBEE, SEnEHT. 8NMFENNRRES Harray FHRFS . En BN FESHE T In 7, Rk
Narray2.

i H &% array 2t 7 HEF G BB KA BT R Bl . (BIXANKRE R AIH .

3. RATBEBKNEE LR, KE%Aserverit. XEMAER R flag.

L n = 1578, m = 245 N, AT PLIXFERRE .

1. HERRSHDEHarray F R RIMANEEE . X En=245. &G Flarray[1...245].
X AN BT HEF, 8 8larray2[1..245].

2. REIFEF Hknumber.

RIE AT A: knumberfEarray2[1..245] FHEkANHHE .

3. BEAHHarrayFHIE (m+l) MNEIE, BIE2460 % dEarray[246].

HTER R RENEFE, L., FEMAE[L. . 245]FR— M EFqkE# 246

(1) wmEFHarray[q]<knumber, Harray[246]<knumber, ZEkANEFI4REknumber;

(2) R HHarray[q]>knumber, Harray[246]>knumber, FEkANEFETRZknumber;

(3) R Harray[q]<knumber, Harray[246]>knumber, ZEkANHFZ Ak2number, HA, k2number>knumber;
(4) mEKHarray[q]>knumber, Harray[246]<knumber, ZEkANHFZ Ak2number, HA, k2number<knumber;
HTFBAT B FHEAMEE, tharray[1...245]FFk-1MEF/NTFknumber.

TR EFHFMIR (m=245) FHRIHE[L. .245 ] FH— AN FEgREH N246, BIRKIEHY[L. .246] %A server/GiRE—ANEF:
(1) Harray[246]<knumberkt, J&[Eknumber % k.

(2) Harray[246]>knumberft, JREk2numberfEE 2k,
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from hashlib import sha256
string
itertools

socket

socket.socket(socket.AF_INET, socket.SOCK STREAM)
sock.connect((HOST, PORT))

def brute force(pad, shav):
(20):

for in itertools.product(string.ascii_letters

for i in

t .join( )

ts pad t

h = sha256(ts.encode(

if h.startswith(shav):
print(ts, t, h)

return t

)) .hexdigest()

content[startl:startl+5]

brute_force(pad, h).encode()

.encode())
sock.recv(1024).strip().decode()

content.split(
print(last)
n re.findall(
m re.findall(
print(n,m)

)[-1]

,last)[@]
,last)[@]

for i in (

(m)):
1q.append( (i+1))
.join(1q)

sock.send(q.encode())
.encode())
sock.recv(1024).strip().decode()
print(content)

knumber content

tc [content]
for i in (
1g ]

string.digits, repeat=i):




for j in (m)):
if i==j:
1g.append(str(int(m)+1))
else:
1g.append(str(j+1))
.join(1lq)

sock.send(qg.encode())
sock.send( .encode())
content sock.recv(1024).strip().decode()

tc.append(content)

(tc.count(knumber))

sock.recv(1024).strip().decode()
print(content)

[Mis]3.Ranma’z
notepad++#T FF 30, KIRZED .

L = flag_4c?b25]:?ade?3ac3a6]:3081c81633fe6|ﬂ‘
(CllxGBExC1 / AN 1

BMRETEREFZHFHMZERBRE. LT (https:/330k.github.io/misc_tools/unicode_steganography.html) =, # Il fr
FAAESIED, AEORIHEBENER.

Text in Text Steganography Sample



Original Text: (length: 559)

KGRAORT 10B46-1 zswinzz d tnxcs tsdtofhrx osk ndnzhl zna
Ietygfviv Idoilfvsu Arz (QOJ) hkkak naikaglvusy ubyp cw
ekg krzyi'o kitwkhj alyesdd. Wis rzvmebrwoa duwcuosu
poecggamo cw ekg IFA, uussmpu, wsum aup gfxschlivk swks
pchh khxnsee drdogpgpwfyy chg xeupctzou, ogl gneg ¥lv nsg
bh zds upygzerxzkih fo NT-8, wer wooenw gt wpwy isdz. 2VT-
G kif zds tsdtofbrxesgktf ot szryafmtai hkm sahz LD-DUGLG
ggjuv, audilIvic afxschlivrehp hlve ifgvk omiehogz, sievaf]
laf cwprx ocwezcfh bugp fvwb gb XA-NYYWZ zdniha oap oip
wtogacegnsee wo cwprx rocfhu. HTTPZB{GFOLPE_KRZ 10}

Encode »

v.

Hidden Text: (length: 0)

Steganography Text: (length: 539)

KGR/ORT 10B46-1 zswiozz d tnxcs tsdtofbrx osk ndnzhl zna
letygfviv Idoilfveu Arz (QOJ) hkkak maikaglvusy ubyp cw
ekg krzyi'o kitwkbj alyesdd. Wis rzvmebrwoa duwcuosu
poecggano cw ekg IFA, uussmpu, wsum aup ofxschlivk swks
pchh khynsee drdogpgpwfyy cheg xeupctzou, ogl gneg ¥lv nsg
bh zds upygzerxzkih fo NT-8, wer wooenw ot wpwy isdz. 2VT-
8 kif zds tsdtofbrxegktf ot szryafmtai hkm sahz LD-DUGLG
ggjuv, augilivic afxschlivrehp hlvy iogvk omiehogz, sievaf]
laf cwprx ocwezcfh bugp fvwb gb XA-NYYWZ zdniha oap oip
wtogacgnsee wo cwprx rocthu. HTTPZB {GFOLPE_KRZ 10}

Download Stego Text as File

e wricleli i
CSDMN @rickliuxiao

ERREAFGE: HTTPZB{QFOLPE_KRZ1Q)
FEMFEA% RN TQLCTFY...}, f&iit2&Vigenere4mid. {HEFDAR A,

FELLTF ™S Chitps://www.guballa.de/vigenere-solver) #4788, 75 Zflag.

Input

Cipher Text:

FloRE/UURL LUn%de~ 1 ZIWLOOQY 4 TIXCI TIATUCILDEX C©3K

nanznl gna

Ietygfviy Idoilfwsu Arz (Q2J) hkkgk maikaglvusv ubyp cw ekg -
krzyj'c kitwkbkj alypsdd. Wjs rzvmebrwoa duwcuosu pgecggamo
cw ekg IFA, uussmpu, ysum aup gfxschljyk swks pckb khxnsee
drdogqpgpwiyv cbg xeupctzou, ogl gneg ylv nsg bb zds
upygzrxzkijh fg XVT-8, wpr uxxvnw gt wpwvy isdz. XVT-§ kif =zds
tadtofbrxegktf gt szryafmtgi hkm sahz LD-DUQLQ =gjuv,
augjllvtec gfxschljvrehp hlvv igyk omjehog, sieyafj l1gf cuprx
ccwezcfh bugp fvwk gb XA-NYYWZ gdniha ocap cip wtogacgnsee wg
cwprx rocfhu. HITPZB{QFOLF& ERZ1Q} P
Cipher Variant: |Classica|UigcncreV|
Language: Germagn v
3-30
Key Length: .
(e.g. 8ppr a range e.g. 6-10)
Break Cipher | | CleagCipher Text |
Result
Clear text [hide]
Clear text using key "codingworld™:

ISQ/IEC 10646-1 defines a large character set called the Uniwversal

and this

Character Set (UCSH) which encompasses most of the world's writing
systems. The originally propcsed encodings of the UCS5, however, were
not compatible wigh many current applicaticns and proteoccls,
has led to the dggrelopment of UTF-8, the object of this memo. UTF-8 has
the characterist of preserving the full US-ASCII range, providing
compatibility willh file systems, parsers and other software that rely

- .

Ileml. IT

t are

transparent
I TQLCTF{CODING WCR1D}

to other wvalues.
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